Do have a go at solving the following ‘Chess 4)

Problems’ They are not positions from »n
games: they are composed (constructed) for . 5 2 A

enjoyment. White plays up the board in Z?ﬁyéﬁ/ﬂgﬁé _

each position. Write your solutions _ /%i@ oz

de the di R B crE

alongside the diagrams. - %% ///if é/@ e

‘41’ means ‘White to play and mate in one Zfé% oY )
" 7

move.’ Give that one move.

‘#2’ means ‘White to play and mate in two
moves.’ Give White’s first move only.

‘H#2’ means, ‘Black to play and co-operate
with White to help White mate Black in
two moves.”’ The move sequence is ‘1.B W
2.B W’. Give all moves in each solution.
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% For more information about chess
// // // // problems, please visit:
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http://www.theproblemist.org



